QuesTioN 1  Multiply the following fractions.

1
a X—= b X—= ¢ —X—=
2 2 3 4 4 7
3 3
o 0 - 10 10 - 10 10
9 3 3 1 . 9 3
g —X—= h X— = i —x =
1 - o 1o - 10 200
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QuEsTION 2 Work out the answers to the following as basic fractions.

9 5 1 4 2 9
—X== b —x—= c —X—=
10 9 2 5 3 13
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QuEesTioN 3 Simplify the following.

3 5
a Ox8= b Zx4= ¢ 2x6=
8 4 6
5
2 12
d —x—= e —x13= f —x7=
32 13 7

i |
g —x10= h 2x24= i Sx63=
10 4 9
3 \ 7
i Zxa0-= k Lxo0= 1 2=
| 5 36

QuEsTION 2  Find the following.

of 62= b of 120= C of $175=
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